The Necklace Questions
1. Which statement best describes the plot of “The Necklace”?
a. Mme. Loisel learns that not everything in life is free.
b. Mme. Loisel believes that because she is pretty she should have everything she wants in life.
c. Mme. Loisel should have known that you should ask about what you borrow.
d. Mme. Loisel finds out that appearances can be deceiving.
2. Where in the story do we learn about who Mme. Loisel is?
a. Falling action
b. Rising action
c. Exposition
d. Climax
3. The climax of “The Necklace” is
a. When Mme. Loisel realizes that the necklace is missing.
b. When Mr. Loisel tells Mme. Loisel to tell her friend that the necklaces clasp is broken.
c. After ten years, when Mme. Loisel has paid for everything.
d. When Mme. Loisel confronts Mme. Forestier.
4. What is the resolution of “The Necklace”?
a. When Mme. Loisel has paid for everything.
b. When Mme. Forestier tells Mme. Loisel that the necklace was paste.
c. When Mme. Loisel confronts Mme. Forestier.
d. When Mme. Loisel sees Mme. Forestier at the Champs Elysees.
5. What is not ironic in the story?
a. That the original necklace is paste.
b. That Mme. Loisel loses her looks.
c. That Mme. Forestier does not recognize Mme. Loisel.
d. [bookmark: _GoBack]That no one knew the differences in the necklaces.
